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THE OPEN UNIVERSITY OF SRI LANKA
DEGREE OF MASTER OF EDUCATION

FINAL EXAMINATIONS - 2013
ESP2313 - RESEARCH METHODS IN EDUCATION
DURATION - THREE (03) HOURS.

Date: 01% November 2014 , * Time: 01.30 p.m.-04.30 p.m.
1. Answer question one and any other two questions (one research problem
can be used in one question only)
2. Write the answers for quesfion one, on the question paper itself.
Study the following scenario and answer questions (i) to (v) based on it.

01.

Saman, was recently appointed as a graduate teacher to. Wijaya Vidyalaya,
situated in a rural area. He was assigned teaching English to students at the
secondary level, and he commenced work with motivation. He found out that
student performance in the subject English has been very low at the GCE
(O/L)Examination for several consecutive years.. He has a suspicion that the
performance of English may have a relationship with students overall
performance and there may be a few students who needed his urgent attention.
Saman realized that he is faced with a very challenging situation.

1. Identify a researchable problem; within the above scenario and state it.
) _ (05 marks)
11. State a suitable research design to study this research problem, and justify

your selection providing two reasons.

Research Design .ooooviiiiiiiiiiiiiiee [T S USRI

e teaesanasasdianecssetnsatansesasenastnataeeacseananatnseeenennanaeeeeaenacnoneoanonecenon

..........................................................................................

(03 x02 = 6 marks)



02.

iii.

iv.

000

State three (03) research questions/specific objectives in relation to the

proposed research study.

(03 x 03 = 09 marks)

State an appropriate sampling design and briefly explain it.

(02 + 03 = 05 marks)

Identify three (03) methods of data collection for this study and indicate
how these will be implemented.

(02 x 03)+(02 x 03)=12 marks
(Total Marks = 40)

Compare and contrast features of case of study/research design and
experimental research design, under the following aspects.

a. Main purpose of conducting the research.
b. Sampling method. o
c. Methods of data collection and analysis

(024 02 x 03 = 12 marks)



03.

04.

il

iii.

iv.

ii.

iR

1v.

ii.

1ii.

iv.

'b. Experimental design

Briefly describe three types of Experimental Research Designs. _
(02 x 03 = 06 marks)

Explain the main steps of Vcbnducting a Case Study Research.
(06 marks)

State specific research problems (one each) that can be studied using
a. Case study design

(03 x 02 = 06 marks)
(Total = 30 marks)

Explain the key characteristics of the Action Research Design.
(06 marks)
Analyse the process 1nvolved in an act1on research using a diagram.
(04 + 04 = 08 marks)
State a research problem in relauon to your context Wthh can be studied
using action research design and justify your selection.
(04 + 04 = 08 marks)

Explain how the above research study can be implemented in line with the

diagram drawn in question 2.
(08 marks)
(Total = 30 marks)

Explain the significance of a Teview of literature during the following
stages of a research study.
a. Planning the study ,
b. Implementing the study
C. _Reporting the study
(03 x 03 = 09 marks)

Justify the need for a theoretical review as well as an empirical review
prior to conduct of research study. -
’ (03 +03 = 06 marks)

Describe five main chaxactenstlcs of a ‘good’ review of literature.
(10 marks)

Explain the need to adhere fo a standard referencing system during a
review of literature. o
) (05 marks)
(Total = 30 marks)



0s.

06.

11.

i1l.

1v.

1.
il

iii.
iv.

V.

Explain the main purpose/s of conducting survey research.
(02 marks)

Explain with examples, five (05) essential characteristics of survey

research studies.
(05 marks)

Identify a specific research problem from the educational system, that can
be studied using survey design, and state three (03) research objectives.
(03+(02x03) = 09 marks)

Indicate the sampling method and sample to be selected.
(03+02 = 05 marks)
Explain the data collection methods to be adopted in line with the
objectives stated (ii).
(03 x 03 = 09 marks)
(Total = 30 marks)

- Write short notes on any three (03) of the following with examples.

Strengths and limitations of ‘participant observation’.
Advantages-of conducting “Semi-structured interviews’
Importance of obtaining ‘informed consent’ of participants in a study
Difference between ‘dependant’ Vanables and 1ndependent variables’
Significance of ‘data trlangulatlon
(10 x 3 =30 marks)
(Total = 30 marks)

- Copyrights reserved -
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